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Preprocessing:

1. Change Jobname.

2. Define element type. (“BEAM3”, which is a 2-D beam element)

3. Define real constants. (Area, Moment of Inertia, Height, SHEARZ)
4. Define material properties. (Young’s Modulus, EX -- only property required for this analysis)
5. Create nodes. (21 total)

6. Create beam elements between nodes. (20 total)

Solution:

7. Apply constraints and loads to the model.

8. Solve.

Postprocessing:

9. Plot deformed shape.

10. List reactions.

11. List the deflections at each node.

Exit the ANSYS program.
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Preprocessing:

1. Change jobname:s 3s_ sl i
File -> Change Jobname

Enter “beam”, and click on “OK”.
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2. Define element types: 2sise ¢l jal o) il
Preprocessor -> Element Type -> Add/Edit/Delete
Click on “Add..”,
highlight “Beam”,
then “2D elastic 3”, click on “OK”, then “Close”.
3. Define the real constants for the BEAMS3 elements: s s lliadiia (3 gai 3

Preprocessor -> Real Constants -> Add

Click “OK” for “Typel  BEAM3”
(3sdie b sade e 0l 3 (28 0 (51elSS i 14a ) ailai 3l 1) ) Cliadilie Laié
AREA=8; 127=(32/12); HEIGHT=2; SHEARZ=(6/5). click “OK”, then close the “Real
Constants” box.
4. Define Material Properties gllas cibadin gageiajls:
Preprocessor -> Material Properties -> -Constant- Isotropic

“OK” for material set number 1, then, enter 2. E5 for EX, then “OK”.

5. Create nodes s 8 ciluaiag g5 3 )50
Preprocessor -> -Modeling- Create -> Nodes -> In Active CS
Enter 1 for node number .3 s il 58 a i a5 liila g ) shay s Ko jlad 8K A &) gy
Enter the location as (x,y,z)=(0,0,0).
Click on “Apply”. Define node 21 at (x,y,z)=(20,0,0), then click on “OK”
Automatically fill in the other nodes: S 25 <libasi skl a6 8 slus K 530l w2

Preprocessor -> -Modeling- Create -> Nodes -> Fill between Nds.

Click on node 1 at the origin,
then click on node 21 at x=20, then click on “OK”. Accept the defaults. Click “OK”

;i\aﬁéJ\}@Mhaﬁewc\S.g\ d).\.\SLﬁ\)J

Utility Menu ->List -> Nodes [OK]
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Utility Menu -> PlotCtrls -> Numbering.

Check “node numbering”, then click “OK”.

6. Create beam elements between nodes . & gl sla
Preprocessor -> Create -> Elements ->-Auto Numbered-Thru Nodes

Pick node 1, then node 2, and click on “APPLY”
Then, click on node 2, then node 3, and click on APPLY. Continue

My aal i il el ey as &5 1€ S OK ¢ 55 APPLY sl s Ol sl ) 2y 435
Solution:4liw Js
7. Apply constraints and forces on the model s )24 550 Ll i Sl
REBSTP T BN
Solution -> -Loads- Apply -> -Structural- Displacement -> On Nodes

Pick node 1, then click “OK”. Choose ALL DOF, and Click on “OK”.

(s B
Solution -> -Loads- Apply -> -Structural- Force/Moment -> On Nodes
Pick node 21, then “OK”, choose “FY” and enter “50”. Click on “OK”.
8. Solve the problem Jias alail:
Solution -> -Solve- Current LS

Click “OK” in the “Solve Current Load Step” Box.

Postprocessingzi caalia :

9. Plot the deformed shape s jus IS just asns 5i 2
General Postproc -> Plot Results -> Deformed Shape

choose “Def + undeformed”, then “OK”.
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10. List reaction forces a8 4 sledi€l 5 (50 gai Caonsd :
General Postproc -> List Results -> Reaction Solution

Use the default: “All items”; and click on “OK”.

11. List nodal displacementsts s 8 (sleilSa jusi 3 (i 8 caad :
General Postproc -> List Results -> Nodal Solution -> DOF Solution -> ALL DOFs
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Toolbar: Quit ->Save Everything -> OK
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